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TNPSC GROUP i MAIN EXAM – 2023 
WALKIN TEST IV APTITUDE & MENTAL ABILITY  AND TAMIL ELIGIBILITY TEST 

 

APTITUDE & MENTAL ABILITY 
 
Total Marks: 70                             Time: 1 hr 
 

SECTION A 
4 x 10 = 40 

Answer the following in 150 words each 
 

1. Answer the following questions 
gpd;tUtdtw;wpw;F tpilasp 
 

a. The area of an equilateral triangle is 49 3 cm2. Taking each angular point as centre, 

circles are described with radius equal to half the length of the side of the triangle. 

Find the area of the portion in the triangle not included in the circles. (Take 
22

7
 = ) 

(5m) 

xU rkgf;f Kf;Nfhzj;jpd; gug;gsT 49 3 cm2 MFk;. xt;nthU Nfhz Gs;spiaAk; 
ikakhff; nfhz;L Kf;Nfhzj;jpd; gf;fj;jpd; ghjp ePsj;jpw;F rkkhd Muk; nfhz;l 
tl;lq;fs; tiuag;gLfpwJ. tl;l gFjpfis jtph;j;J Kf;Nfhzj;jpdhy; #og;gLk; 

gFjpapd; gug;gsT fhz;f. (
22

7
 =  vd;f) 

 
 

b. Spherical shaped marbles of diameter 1.4 cm each, are dropped into a cylindrical 
beaker of diameter 7 cm containing some water. Find the number of marbles that 
should be dropped into the beaker so that the water level rises by 5.6 cm. (5m) 
7 nr.kP tpl;lKs;s cUis tbt Kfitapy; rpwpjsT jz;zPh; cs;sJ. mjpy; 
xt;nthd;Wk; 1.4 nr.kP tpl;lKs;s rpy Nfhs tbt gspq;Ff; fw;fs; Nghlg;gLfpwJ. 
cUisapYs;s ePhpd; kl;lk; 5.6 nr.kP cau vj;jid gspq;F fw;fis KfitapDs; 
NghlNtz;Lk; vdf;fhz;f. 
 

 
2. Find the value of the following (10m) 

gpd;tUtdtw;wpw;F kjpg;G fhz;f 

i)
2 1 3 1

1
5 5 4 2

of
  

 − −  
  

   ii) 
1 5 3 1 1

3 4 5 2 4

−     
 +  −    

    
 

iii) 
4 8 3 4 4 1

3 7 4 3 3 4

   −      
 −  +        −            

iv) 
4 3 5 30 12 27

3 2 3 12 9 16

 −  − − −     
− +  +       
      

 

v) Solve for x : 
5 4

5

12

5 5 5
5

5

x−
− 

=  

gpd;tUtdtw;wpd; kjpg;Gf; fhz;f 
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i)
2 1 3 1

1
5 5 4 2

of
  

 − −  
  

   ii) 
1 5 3 1 1

3 4 5 2 4

−     
 +  −    

    
 

iii) 
4 8 3 4 4 1

3 7 4 3 3 4

   −      
 −  +        −            

iv) 
4 3 5 30 12 27

3 2 3 12 9 16

 −  − − −     
− +  +       
      

 

v) x f;F jPh;T fhz;f : 
5 4

5

12

5 5 5
5

5

x−
− 

=  

 
3. Answer the following 

gpd;tUtdtw;wpw;F tpilasp 
 
a. A village having a population of 4000 requires 150 litres of water per head per day. It 

has a tank measuring 20 m × 15 m × 6 m. for how many days will the water of this tank 
last? (5m) 
4000 kf;fs;njhif nfhz;l xU fpuhkj;jpy; xUtUf;F xU ehisf;F 150 ypl;lh; jz;zPh; 
Njitg;gLfpwJ. ,e;j fpuhkk; 20 kP x 15 kP x 6 kP msTs;s njhl;biaf; nfhz;Ls;sJ 
vdpy; ,e;j njhl;bapd; jz;zPh; vj;jid ehl;fSf;F NghJkhdjhf ,Uf;Fk;? 
 
 

b. Calculate the weight of a hollow brass sphere if the inner diameter is 14 cm and 
thickness is 1mm, and whose density is 17.3 g/ cm3. (5m) 
Xh; cs;sPlw;w gpj;jis Nfhsj;jpd; cs;tpl;lk; 14 nr.kP> jbkd; 1 kp.kP kw;Wk; 
gpj;jisapd; mlh;j;jp 17.3 fpuhk; / f.nrkP vdpy;> Nfhsj;jpd; viliaf; fzf;fpLf 

 
4. Answer the following 

gpd;tUtdtw;wpw;F tpilasp 
 
a. Pandian and Thamarai contested for the election to the panchayat commitee from their 

village. Pandian secured 11484 votes which was 44% of the total number of voters. 
Thamarai secured 36% of the votes. Calculate  (i)The number of votes cast in the 
Village  (ii) The number of voters who did not vote for both the contestants. (5m) 
xU fpuhkj;jpy; Ntl;ghsh;fshd ghz;bad; kw;Wk; jhkiu ,UtUk; Cuhl;rp kd;wj; 
Njh;jypy; Nghl;bapl;ldh;. mjpy; ghz;bad; 11484 thf;Ffs; ngw;whh;. ,J nkhj;j 
thf;fhsh;fspy; 44% MFk;. jhkiu 36% thf;Ffs; ngw;whh;. vdpy; (i) thf;F 
mspj;jth;fspd; vz;zpf;if vt;tsT?  (ii) ,UtUf;Fk; thf;F mspf;fhjth;fspd; 
vz;zpf;if vt;tsT?  

 
b. A cricket team won two matches more than they lost. If they win they get 5 points and 

for loss − 3 points, how many matches have they played if their total score is 50. (5m) 
xUkl;ilg;ge;J mzp (Cricket Team) fye;J nfhz;l Nghl;bfspy;> Njhw;wij tpl 
,U Ml;lq;fs; mjpfkhf ntd;whh;fs;. ntw;wpf;F 5 Gs;spfSk;> Njhy;tpf;F – 3 
Gs;spfSk; toq;fg;gLfpd;wd. me;j mzp nkhjj;jpy; 50 Gs;spfs; ngw;wpUe;jhy;> me;j 
mzp fye;Jnfhz;l Ml;lq;fspd; vz;zpf;ifiaf; fhz;f 
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SECTION B 
2 x 15 = 30 

 

Answer the following in 250 words each 
 

5. Answer the following questions 
gpd;tUtdtw;wpw;F tpilasp 
 
a. The ratio of the radii of two right circular cones of same height is 1:3. Find the ratio of 

their curved surface area when the height of each cone is 3 times the radius of the 
smaller cone. (7.5m) 
rk cauq;fisAila ,U Neh; tl;lf;$k;Gfspd; Muq;fs; 1 : 3 vd;w tpfpjj;jpy; 
cs;sd. $k;Gfspd; cauk; rpwpa $k;gpd; Muj;jpd; %d;W klq;F vdpy; tisgug;Gfspd; 
tpfpjk; fhz;f 

 
b. In a rectangle, if the length is increased by 3 metres and the breadth is decreased by 4 

metres, the area of the triangle is reduced by 67 square metres. If length is reduced by 
1 metre and breadth is increased by 4 metres, the area is increased by 89 sq. metres. 
Find the dimensions of the rectangle. (7.5m) 
xU nrt;tfj;jpd; ePsj;ij 3 nr.kP mjpfhpj;J mfyj;ij 4 nr.kP Fiwj;jhy;> mjd; 
gug;G 67 r.nr.kP FiwfpwJ. ePsj;ij 1 nr.kP Fiwj;J mfyj;ij 4 nr.kP mjpfhpj;jhy;> 
nrt;tfj;jpd; gug;G 89 r.nr.kP mjpfhpf;Fk; vdpy;> nrt;tfj;jpd; gupkhzq;fis fhz;f. 

 
 

6. Answer the following questions 
gpd;tUtdtw;wpw;F tpilasp 
 
a. The cost price of 16 boxes of strawberries is equal to the selling price of 20 boxes of 

strawberries. Find the gain or loss percentage. (5m) 
16 ];l;uhnghp (Strawberry) ngl;bfspd; mlf;f tpiyahdJ 20 ];l;uhnghp ngl;bfspd; 
tpw;gid tpiyf;Fr; rkk; vdpy;> ,yhgk; (m) el;lr; rjtPjk; fhz;f.  

 

b. A shopkeeper gives two successive discounts on an article whose marked price is ₹180 

and selling price is ₹108. Find the first discount percentage if the second discount is 
25%. (5m) 
&.180If; Fwpj;j tpiyahfTk;> &.108I tpw;gid tpiyahfTk; nfhz;l xU nghUSf;F 
filf;fhuh; ,uz;Lj;njhlh; js;Sgbfis mspf;fpwhh;. ,uz;lhtJ js;Sgb 25% vdpy; 
Kjy; js;Sgbr; rjtPjj;ijf; fhz;f 
 

c. If a number x is 10% less than another number y and y is 10% more than 125, then find 
the value of x. (5m) 
x vd;w vz; y vd;w vz;iz tpl 10% Fiwe;Jk;> y vd;w vz;zpd; kjpg;G 125I tpl 
10% mjpfkhfTk; ,Ue;jhy;> x-d; kjpg;G fhz;f 
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TAMIL ELIGIBILITY TEST 
 
Total Marks: 30                          Time: 30 mts 
 

1 x 10 = 10 
 
Nfs;tp vz; 1: 
 
gpd;tUk; RUf;ff; Fwpg;gpypUe;J tphpthf;fk; nra;jy; 300 thh;j;ijfSf;F kpfhky;  
,izaj;jpy; jkpo; - ,izaj;jpy; Vwpa Kjy; ,e;jpa nkhop – jkpo; ,izaj;jpd; tsh;r;rp – 
jkpo; ,izaf; fy;tpf;fofk; - kJiuj;jpl;lk; - jkpo; tpf;fpg;gPbah.  
 
 
Nfs;tp vz; 2 
 

a. fPo;f;fhZk; nrhw;fis ckJ nrhe;j thf;fpaj;jpy; mikj;J vOJf.  
 
1. fzpg;G 

 
2. vl;lhf;fdp  

 
3. jpz;zk;  

 
4. mr;rk;  

 
b. gpd;tUk; ,izr; nrhw;fisg; gad;gLj;jp xNu njhlh; mikf;f.  

 
1. tyk; - tsk;  

 
2. mhpit – mwpit  

 
3. tz;ik – td;ik  

 
4. fiy – fio  

 
c. gphpj;njOJf.  

 
1. khrw –  
2. ePythd; -  
3. jz;nzhsp  
4. ehz;kjp – 

d. vjph;kiw thf;fpakhf khw;wp vOJf.  
 

1. fao;tpop ed;F vOJths;  
 

2. mtd; nrd;whd; 
   

3. kPdhl;rp fl;Liu vOjpdhs;  
   

4. miog;Gkzp xypj;jJ  
   

e. gpio ePf;fp voJf.  
 

1. kjpeyd; fhj;J cls;eyk;  NgZjNy rpwg;G  
2. CzpNy vk;Kaph; cy;yyTk; XjpAdh;Ntd;  
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3. mikr;rh; gjtpfpilf;Fk; vd;W kzf;Nfhl;il fl;lhNj.  
4. ciw Cw;wpg; ghh;j;jhSk; Gypf;fhjg; ghy; Kg;ghy;  

 


